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1. %ka=log,z > b=log,(x+1) > c=log ,(w+2) » R 5|oREFE 3 § & fEe7 ?

(A) a<b<c
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(B) C<E

(C) a+c>2b

(D) b*>ac
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(A) #% z+% B & B z~°’+zi3 4 R

(B) 4% z+% B4 Bl 2 2 L4 ek

(C) 4% z ‘fr% R IAPERL N 1Rz %A EREo
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3. % f(X)=x’+ax+b L=tk 33N ¢ i & F LB

(-14) » 2 WA8 x AP o R T AR F AT
(A) a<-2

(B) f(0)< f(-2)

(C) f(2)> (0)

(D) f(4)> (2

4, Trlgcik e kAR D
(A & f'a) & Bl f(X) E X=a #%-
(B) # f'(c)=0-8] f(c) % A3 ’}élﬂ (local extrema) o
(€ % f"(c)=0- Rig (C,f(C)) & y=1(x) WAjchFE & B -
D) £ f'(x) &2%&F (ab) pggssc Bl y= f(x) W3
2% ® (a,b) % wr %t (concave up) °
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(A) 9(0)=0

(B) g(2)=1

© g'(0)=1

® g@)=2

=3
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1. = ;

k;k(k+1)(k+2)
2. ¢ P x % log,x=1-cosd - B |x-1+[x-9 #hEi__ -
3. #4258 x*+18x+30=2yVx*+18x+45 #F FRehkHFE 0 o
4, & & 0:% » ] cos3@—cos20+cosf 2 ER 0 e

5. FURHEMENRTHY i B G - A R PEAFE - K G REAF
BT - 3 EAFE - AT 28I 2B LY

FR- 0 EAFF > BRBRART g ZAgaoFE o
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7. lim (V4x*45x+2+2x)= 0

8. % (Y o2c0s™X Bl £1(0) = :
Xx+1 2

9. xeR » z&FHPHE [X]=max{meZ|m<x} -

% [x+0.19]+[x+0.20]+[x+0.21]+...+[x+0.91] =546 -
B [100x] = o

10. 3% AABC % - %= 47, AB=AC > ¢ /BT A2 #i¥ AC
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1. ABD
2. ACD
3. CD
4. AD

5. ABC
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9. 743

10. 100



